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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. TOamefl 9auYH 319 999 951 W A Aard: fad |
Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. T U o fgl 9 ST ®URR H fRdl ¥R w1 Jfe / R / fatanyma
B W feal T & WA 1 Wel A |
If there is any error / difference / contradiction in Hindi and
English versions of the question paper, the question of Hindi
version should be treated valid.

3. Wl e € | WA A 239 24 F Al famed ®
All questions are compulsory. Question Nos. 23 and 24 have

internal choices.
4.  YAE Y HI IW & TS Sw-giant ¥ 71 fad |

Write the answer to each question in the given answer-book only.
5. U HHIR 28 5TH 31fd RIS YA E |

Question Nos. 2 to 5 are Very Short Answer type questions.
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6. wgl ot stavaw B, fa # fompa o, fogm &% wd yemrwr femvor =t faun
fe@msa |
Wherever necessary, show the direction of the electric current,
electric field and light rays in the diagram.

7. 99 797 & ©F ¥ sifys O i ol 9r €, 39 9 9 1 T T 9y
Hadq ferd |
For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

8. WY HA 1k AN WM (i, ii, ili A iv ) § | T&F WM & I & IR
fomeg (o1, @, W@ T ) T | WSl fowew &1 IqER SW-Yfegar #
frergER arferent s fag
There are_four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct

alternative in the answer-book at a place by making a table as
mentioned below :

i HE 3T T HHTAT
ngmo Correct letter of the
) Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)
1. () 7 AR F Jod TR g &
A
(31) A @
A A
(® 7 D 3

The path difference equivalent to % phase difference is

A
@A) B) 3
A A
(S, D) 3 . z
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(i) T oTq 1 % Hed 1-4 eVE | T5T ot aret stafad weprer & < 71 omg
T T IS BICSATT T ST &l R 2
(1) 24ev ()  12ev
() 16ev (7 1-8eV.
Work function of a metal is 1-4 eV. What will be the energy of
incident light for which no photoelectron emission will take place
from given metal surface ?
A) 24eV (B) 1-2 eV
(C) 16V (D) 1-8eV. z
(i) HT] FlERT e ool FEdE e AtuatEa % fod e e
1AM B0 ©
(1) 1 () 08
(7 12 (D g2
The reproduction factor of nuclear chain reaction taking place in
a nuclear reactor is
Aa) 1 (B) 0-8
© 12 (D) z
(iv) SWIE ¥9R ¥ geat & Trqul 9iT T YERY Y6 A & ford savas SwEl
I =AqH T&
(1) 4 () 3
() 2 (T 1.
The minimum number of satellite(s) required in satellite
communication for full transmission coverage of the earth is
A 4 (B) 3
Cc) 2 (D) 1. z
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2. U fgerefia fgeruads frea =1 0 fafew |

Write the name of a biaxial double refractive crystal.

3.  Ug 9 W ScAfSid BIgaaZEl St Sen fha Uit & TR gidt § 2

Number of photoelectrons emitted from a metal surface is proportional
1

N~

to which quantity ? 7
4. = 0 % ITER F fod form Yedufea smewiem w1 3w e s € 2

Which radioactive isotope is used for treatment of skin desease ? %
5. A srermvee W feuq fondt wq & goAaiHl &1 Stfuehad S o @, dl

HIL01 1 shifdek stgfa =1 g3 faf@u |

If maximum electron density in a layer of ionosphere is n _  then

write the formula of critical frequency of transmission. %
6. YUl dc1 9 HEIA qc ki aRHIfa Hifse |

Define plane of polarisation and plane of vibration. 1
7.  TIESISH WagH &l -9 v WA F I AT H gl § 2

Which series of hydrogen spectrum is in visible region ? 1

8. Tt fawa =1 uftwifira swifsiw | strafaa geerer =61 stgfa wa fit favwa & ge
e Gty |
Define stopping potential. Draw graph between frequency of incident
light and stopping potential. 1
9. TTISISH WHTY H TUH Fell H IAILT I T Sl — 136 eV T, d 39 Hal §
TRl o feafast st fohaet 1R 2

Total energy of an electron in first orbit of hydrogen atom is
— 13-6 ¢V. What will be the potential energy of the electron in this orbit
? 1

10. P-NUfy SRl # e19am@ WA &I "R 0-5 A5hiA T fawa Aferert 1 S=E 0-8
diee g1, d P-NgfY erire ¥ faga &5 1 919 J1d Hifeg |
If width of depletion layer in P-N junction diode is 0-5 micron and

height of potential barrier is 0-8 volt, then calculate the electric field
inside P-N junction diode. 1

SS—40-2—Phy. II

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

-_______________________________________________
EBYJu's

The Learning App

5
11. Frifeem § foga arem &1 R0 9 aren Sve §=E1 fas s |

Draw the band structure diagram of magnesium causing electrical

conduction. 1
12. fgemyrd 9@ (111 )% 97d SIHAT YR T&A1 J1d iy |

Find decimal number equivalent to binary number ( 111 ). 1
13. TG a0 G0 § W fagagras e ai &t sgfa W feat gt € 2

What frequency range of electromagnetic waves is used in space wave

transmission ? 1

14. TH %a fgfsd =1 fom *ior 1° wd Aueddies 1-56 § q1 96 T i
TR 6000 AR | AfE yeRTer wia wd wE i fgfew 9 gl swuwn: 209w
80 Tt g1, l fihs =g =t o wifsrw |

The prism angle and refractive index of Fresnel's biprism are 1° and
1-5 respectively and the wavelength of light used is 6000 A. If distance
of light source and screen from the biprism are 20 cm and 80 cm

respectively, then calculate fringe width. 2

15. BTEsHer o1 Ifafy=aar fagra &1 € ? sHH1 9T Ush Ghivl Y@nes §
TS & foads v § 58 gl §, GHSET | Aavas o aA1Eu |

What is Heisenberg's uncertainty principle ? Explain how it is verified

in electron diffraction experiment by a narrow slit. Draw necessary

diagram. % +1 +% =2

16. 4000A T 6000 A TUCE ot Yol & fhEt o1 9 W Aufad e W
Scafeid g1 aTel WIegaiaZiAl ol Tfast Sl § Tal J1d hifsg |

(h=6-62x1034J—s, C=3x108m/s)

Calculate the difference between kinetic energies of photoelectrons
emitted from a metal surface, when wavelengths of incident light are
4000 A and 6000 A.

(h=6-62x1034J—s,c=3x108m/s) 9
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17. (i) Sh¥d R0 W HRG Traad Aieemel fogd & g & & 999 &l
T aren = AT |
(i) ol WogH G — W % MUR W o AR § siw fafee |

(i) Draw diagram illustrating effect of powerful electric and magnetic

fields acting perpendicular to Becquerel rays. % + % =1

(ii) Write the differences between o and 3 radiations on the basis of

energy spectrum and% value. % +% =1
18. B & H =fet ufteheuT 1 € ? 39 Ufehou T GRT B &Td | AT Wd o1l GReqo
fagr =1 T |

What is neutrino hypothesis in f decay ? Explain theory of

conservation of momentum and energy in f§ decay by this hypothesis.

% + 1% =2
19. e TAHE | C 12 W1 e S i TN RIS |
m, = 1-0073 amu m_ = 1-0086 amu
M, = 12-0000 amu 1 amu [ 931 MeV.
Calculate binding energy of carbon nucleus 4 C 124
m, = 1-0073 amu m_ = 1-0086 amu
M, = 12-:0000 amu 1 amu [ 931 MeV. 2
20. oI frasft dehdl a1t OR gR &1 dcita GHiRu fafan | ggert dehd fo den
HoIdl |t SISy |
Write the Boolean equation for two input OR gate. Draw its symbol
and truth table. % +% +1=2
21. U9R oF § Wiged Td fomigem #1 € ? Wigad i SAEO¥ehdl AHET qel
HigeH & YR fafay |

What are modulation and demodulation in communication system ?
Explain the necessity of modulation and write the types of modulation.

1 +% +% =2
22. 3IYAMS IS N-P-N ifReX qads o1 9iay fast IHE qen g@eh! wrigomet
HHART |
N-P-N gifsreX & fiq wa ot sifaenatfirs ashl ©q Swafts Sa&sis o=
1 9Ty o SART | 9RT Y9 Ol o F fH T i St |
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Draw circuit diagram of common emitter N-P-N transistor amplifier and
explain its working.

Draw circuit diagram for output and input characterisitic curves of
N-P-N transistor in common emitter configuration. Establish the
relation between current amplification factors a and f.

1+1+1+1=4
23. WeRTYl o feferc | 31 N HHed € 2 WA uRkiefe # e Gfer @ et
Il ? Uk Thivl fcie 9 THavll Ghiel & HISA8IHY faadd U n o fafEss &
fa=m h1v1 61 93 1 HIfSIC To ATervars 95 A8 |
YT

TRTH & T U5 & 3MYR W YhI¥ & 3Tqadd 1 o IAET T g9t
AT FHITC | ATAdATh Bl YA TG HifSC |
What do you mean by diffraction of light ? Why is it not observed in
general circumstances ? Derive the formula of direction angle for n
minima in Fraunhofer diffraction of monochromatlic light from a

narrow slit and draw the necessary diagram. 5 + % +1+2=4

OR
Draw diagram of refraction of light on the basis of Huygens wave
theory and explain it. Derive formula for refractive index.

1+1+2=4
24. o So orHEH fafe § el ROl % — F1 W 90 H R fafy wEwEY @

T TA1fad IfST | 99 Ikl 1 fo IR |

77T
fafere da 98 TN 9§ iAo AT 1 A J1d HH i fafy gazmse
T TA1fad IfST | 99 Ikl 1 fo1 IR |

Explain the J.J. Thomson method for determining the value of % for

cathode rays and derive its formula. Draw diagram of used apparatus.

1+2+1=4
OR

Explain the Millikan’s oil drop experiment for determining the value of
charge of an electron and derive its formula. Draw diagram of used
apparatus. 1+2+1=4
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